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3 a Complete the table below to show the subatomic particles present in these atoms.

Nucleon

Protons Neutrons I Electrons ‘
. number

b Chiornne atoms come i two forms: JC] and [TC1

] Fow dio yous know that they are both atoms of the same clememt?

What is the dilference between the two types, o isolopes, of chlonne?

Which clement is "! X an isotope of?
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a [hnagrams A. B and C represent the atoms of three chements. Name the cloments
A B C

b These clements are all very unrcactive gases. What can be said about the dectron arrangements of
these atoms?
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